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; 100kN/mM%# 8% % - ~ -|3mZEBZS - - -| 100kN/m%#8Z% % - ~ -|3mEBZD ~ -
ZznLst 1.00 1 000 ~ 642 67.61 | =nLst | 0.00 0.00| 1.66 8.87 Zzh st 1.00 | 5.00 ~ 6.00 67.61 | TnS | 6.00 ~ 6.00) 1.66 8.87
2 100kN/m##825| 1.00 | 000 ~ 075 111.22 |3m%FBZ 3 -| 100kN/mi% 2% | 1.00 | 10564 ~ 1270| 111.22 |3mEREZD ~
st 1.00 | 0.75 ~ 854 100.00 | =ndst | 0.00 854|221 11.83 Zzh st 1.00 | 5.00 ~ 10.54 100.00 | #nst | 6,00 ~ 1270 2.21 11.83
3 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.08 76.26 | FnSt | 0.00 6.08| 1.96 10.51 Zzh st 1.00 | 5.00 ~ 7.70 76.26 | TnLS | 600 ~ 7.70 ] 1.96 10.561
4 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.66 84.10 | st | 0.00 6.66 | 1.85 9.89 Zzh st 1.00 | 5.00 ~ 820 84.10 | #hst | 5.00 ~ 820 | 1.85 9.89
5 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 -| 100kN/m%#B 2% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.37 80.17 | =nst | 0.00 6.37 | 1.91 10.20 Zzh st 1.00 | 5.00 ~ 7.90 80.17 | #hst | 65.00 ~ 7.90 | 1.91 10.20
6 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 -| 100kN/m%#8 2% ~ -|3mE#BZD ~
ZzhLst 1.00 ] 000 ~ 714 90.71 | LSt | 0.00 714 | 1.88 10.04 ZThLLS 1.00 | 5.00 ~ 930 90.71 | ZnS | 5.00 ~ 9.530 | 1.88 10.04
- 100kN/mM#%#8Z % ~ -|3mZ#BZ 5 -| 100kN/mM%#8 2% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.56 82.69 | =nLst | 0.00 6.56 | 1.85 9.89 st 1.00 | 5.00 ~ 8.00 82.69 | #hst | 5,00 ~ 800 | 1.85 9.89
s 100kN/mM##BZ % ~ -|3mZEEZS -| 100kN/mi%#EZ % ~ -|3mEEZD ~
LS 1.00 1 0.00 ~ 640 80.49 | FnLst | 0.00 6.40 | 1.90 10.15 ZThLLS 1.00 | 5.00 ~ 7.90 80.49 | NS | 5.00 ~ 7.90 | 1.90 10.15
9 100kN/mM##BZ % ~ -|3mZEEZS -| 100kN/m%#EZ % ~ -|3mEEZ D ~
LS 1.00 | 0.00 ~ 541 67.50 | ThLst | 0.00 5411 1.76 9.59 ZThLLS 1.00 | 5.00 ~ 5.90 67.50 | =S | 5,00 ~ 590 |1.76 9.39
10 100kN/mM##BZ % ~ -|3mZEEZS -| 100kN/mi%#EZ % ~ -|3mEEZD ~
zhs 1.00 000 ~ 477 59.50 | TnLst | 0.00 000 1.71 9.17 Zh s 1.00 | 5.00 ~ 5.00 59.50 | FnS | 500 ~ 500|171 917
100kN/mM##BZ % ~ ImEHEZD 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhLs zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD 100kN/m%#BZ % ~ ImEEZD ~
ZzhLst ~ zhLs zhst ~ zhLst ~
100kN/mM%#EZ % ~ ImEHEZD 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st Zhus ~ zh st ~
100kN/mM%#EZ % ~ IMEHEZD 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ Zzh st Zhus ~ zh st ~
100kN/mM%#EZ % ~ ImEHEZD 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s Zh Lo ~ Zhst ~
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